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3) 2A2HE2A19H0  |[A#KTY.

@  sHsHO10AKES A JHTY.

(5) 3H31HE3A  [Ho 18 HETT.
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x| Jrook (S@I15H, AR30®, BH1S, CH1530H)

(1)

1H12HO]  |[H#E1 A 22 HeY.

THUHETH2HO  [H#ETY.

2HsHE2A1HO  |HgETY.

sHITHO 4 Hgiks A |AcT.

0H24HiZ10A  [Ho 8 HETT.

X0l |erwk (SHI5H, AW0H, B#1S, CH1I0H)

(1)

AHTAPS 420 A% [AMTY.

1A A»S 11H23HETE [AlTT.

SH4HPS 3L HETE  |HIETY.

SHAUHPSHATS HHIFS A JHTY

122 HpsMATIOHERIZ A [AoY.
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R&tFZA b 5E RAUAOBE%, BMOHE 01 BE®RS

X0 Jrook (S@15H, AR30®, BH1S, CH1530H)

* HROGFHRIZ, LA LG EEHDA. *Hi, H#& +1

(1) 8H5H®[  |H#E s H20 HTY.
20-5=15H% = 15

2 9HIBHEIAGHD  |HETT.
15-6=9H% = 9

3) 2H2HIE2A19HD  |[HETT.
28—19=9H#% = 9

4) 5HA5HO10HKEESA]  [HTT.
5410 =15

(5) 3H31HE3A  [Ao 18 HETT.

31-18=13

%ol Jeiwk (SWI5H, AW, B1Y, CHR1I0H)
(1) 3Hs5H»53H10HETE  |HICY.
10-5+1=6HfE = 6
(2) 4A1H»S4A30HETE  [AMCT.
30—14+41=30 HA = 30
(3 10ABH,S10A28HETE  [HETT.
23-134+1=11 HA = 11
4 6H2HpsHATSHAEG6A  |HTT,
5-1=4H% = 25+4=29
(5) UHIABSHAT AR ILA  [A<T.

12-1=11H% = 9+11=20
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%ol Jeiwk (SWI5H, AW, BR1Y, CH1I0H)
() 1H12H®]  |[H#EE1H 2 HTT.

2-12=10H% = 10

2 7THIHE7TH2H0]  |HEETT.

11-2=9H% = 9

3) 2A8HE2H1HY  |A#TT.

8—1=7H#% = 7

(4 sHITHo4AKES Al |JH<T.

174+4=21
(5) 10H2HE10H o8 HARTT.

24-8=16

X0 |Eior (SBI5H, A0, B, CH130H)
() 4A7HPS4A20HETE]  HETY.

21—-74+1 =15 Hfl = 15

(2) 1HI1I2A»5 1A 2BHECE AT

23— 1241 =12 HM = 12

(3) 3H4H»53H1LHETE  |HHTT.

11—-4+1=8HH = 8

4 SHAUHBLMATSHEESA[  |HTT.

5—1=4H#% = 244+4=28

(5) 12H2HBSMATIOHA 1A AT

19-1=18H% = 2+18=20
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